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I I [ I
2210Kr 84Kr31+ 70MeV,/u AVF. 18G max 1pnA
Run Summary Sheet : CAMAC & LabView
[ | | | | [ | Att PL2
| [Fname | start | stop |Header Ender / L{_Elapse AUk 100105 [3 2| Trie |Wob |AuF |[Kap |IC1 [PL1 [ED [IC2 |Airl |Air2
SEERRAT LogNote: E5exp(9)_ SSD
bef- &L sA1:300u A2:700u, B1:150u, B2:1000u
SRERh : Beam IR BB
22/10/02 ZnSARY MR 2 p.151
Cap 1] 6:02:00 Cap01_ZnS Zsld,Qdef mpg o[ 2] o] 1] 3 50u® 50 145] 200
2 Cap02 WobR36 mpg ol 2[ o[ 1] 2
3| 6:10:00 Cap03 WobR36Au45IN ol 2[ o[ 1] 0
| |MaxBeam BIE BB FC5A1=_enA
Gafffi = Gaf: EBT3 [185x85mm @ Ysld p.151 IC2[A] |4 E»>Gaf FFMIIZE#EE M
Att vs IC2@Air2 AIEHBE o[ 4/ o] o] 1 X |[x |ou [1C2@XcImt
| |Gaf 1] 6:23:00 Au 45.8u, R=36 60sec [
2 Au 45.8u, R=36 tHO03') 140 60sec HAIICRI+THY. E—LEXL TS ? |
PL HV: AR p.151 PL1=PL2= 2.0kcps| 2| 2[ 0] 0] 2[PorS(0)[R36 [458]/O [O [ 100jou |PL2aair2
plhv01- 1] 651:31] 6:52:13]plhv01-01 700V PL1=new PL2=2209used 0:00:42 [ PL1=100u#1(new) PL2=100u#2(2209used)
2| 6:52:41| 6:53:26 plhv01-02 800V PL2=PL1+200V 0:00:45
3| 6:54:04] 6:54:47|plhv01-03 900V 0:00:43
4| 6:55:17| 6:56:34|plhv01-04 1000V 0:01:17
5| 6:57:19] 6:58:28|plhv01-05 1100V
[BF:EEE p.151 (3R5) HV PL1=800V, PL2=1000V
7:00:00] (BR5E) Thr PL1= —50mV, PL2= -50mV, PL1low = -300mV
scnEDic: ExpR FESR IC27 /R0 ;Edeg®AIL T H\ 2
scnEDic01 202210020717 [30s/m x 538 —> 53|ET p.152 IC1~IC2=1.1-7A[ 1] 1] 0/ 0] 0 O |O O |O |O |var [IC2@Air2
I [ 7:17.00] 7:48:00] 0:31:00 | (3R 5E) ExpR= 1045um PL2@IC2 T i
|scnAtt: IC1 vs PL1
scnAtt01 202210020752 | p.152 1] o[ o] o] o]~ O [0 [0 O [0 Jou
7:52:00] 8:20:00|Step = 1/2. /4. /6. /8. /10 0:28:00 13/ 0l0[3
scnAtt01- camac#EL (GRFE) PLLcps]= 3.884E+13%IC1[A], Eifll/F18=0.96
scnEDssd:newSSD calibF(1[E1H) PL 8K, Sor 1Kcps, Trig:AND\ 1| 3| 0] 0| 0|Pands |O |O |O |O |O |var |SsDeAr2
scnEDssd01 202210020836 p.152 sA1:300um A2:700, B1:150, B2:1000(18-1029B)
I 8:36:00] 9:00:00(30s/ /& 0:24:00 | HV(uA) 100(1.68) 100(1.90) 100(4.65) 200(3.49)
scnEDssd01— SA(Att) x20x5(2,4) x20x6(4) x20x8(0) x5x6(1,2,4,8)
1| 8:36:30| 8:36:57|scanED001 0.0 um 0:00:27 | TFA x6min,Int50.Dif20/=Z & DbIPIsFEL
~ & SAmp DC, PZ ;AR
32| 8:59:53| 9:01:26|scanED032 835.1 um 0:01:33
22/10/02 | 9:00‘ E—LEHERT
22/10/02 9:45 (PO1-1FIARE—F 0.153
22/10/03 7:25 FART
8:00 | Bt T \
8:15 [ RGro# (A \
22/10/03 10:55 (No8-1)FIARA—F 0.153
22/10/04|~ ]5:30~6:15 | [ SvritE o TV, EEE4H90° RIRECTeldl
22/10/04 8:30 FART
8:50 | Bt T \
8:55 [RGro# (A \
22/10/04 9:40 (PO1-2)RIARE— 0.153
22/10/04[~ ]10:12~10:37 | I AVFHOY 5 F¥> Thermal TIELE
22/10/04 20:34 FIFH®ET
21:00 R+ T \
|| FIR#ETE
22/10/04)  |senEDic: PL100u KrfARELYAFT
scnEDic02_202210042118 [20s/55 x 6158 —> 61BAET p.164 IC1~IC2=1.0-7A] 1] 1] 0] 0] 0 O |0 O |var_[1C2@Air2
21:18:00] 21:51:00] 0:33:00|F12T7 R0, EdegRE IV ABE PL2QIC2 T
PLHV: FAM&] p.164 PL1=PL2= 2.0kcps| 2| 2| 0| 0| 2|PorS(0)|R36 | 45.8|O 100[0u  [PL2@Air2
plhv02- 1] 22:23:14| 22:23:47 |plhv02-01 PL1_#1nomi aft scnEDic02 0:00:33 |PL1=100u#1(new) PL2=HVoff
2| 22:24:37] 22:25:19plhv02-02 800V 0:00:42
3| 22:25:47| 22:26:34|plhv02-03 900V 0:00:47
4] 22:27:04] 22:27:38]plhv02-04 1000V 0:00:34
scnEDssd: newSSD calib (2B H) 2ILIF#E: ADCgate OK, PL-Sor coinOK
scnEDssd02_202210042303 ALtimm ®5mm Slitff&E p.164 PL 30K, Sor 1K, Trig=AND| 1] 3] 0] 0] 2|PandS [O [O O [O |O |var |SSD@Air2
23:03:00] 23:34:00(30s/ /2 x 43/ 0:31:00 | HVEFE+L FdD(uA) 150(2.12) 130(2.14) 120(4.80) 200(3.65)
scnEDssd02— SA(Att) x20x5(2.4) x20x6.5(4) x20x8(0) x5x6(1,2,4,8) ]
1] 23:03:18 23:03:46 |scanED00T 0.0 um 0:00:28| A/_£. £ch PZDCEHIESE, [FIZH> TL /=, BLR=Auto/ZZ &, sB2 TFA x2->x6 ichEEICIZL7=
43| 23:34:01| 23:34:33 |scanED043 1000.4 um 0:00:32
scnEDssd03_202210050009 Altimm ®5mm SlitfiE p.165 B.E|[ 1] 3[ 0] 0] 2[PandS [O [O [O [O |O |var |SsD@Air2
22/10/05] 0:09:00 1:07:00{300s/s8 x 2*H 11/ 0:58:00| /&£, SAmp PZEHZ
scnEDssd03—
1| 0:09:46| 0:14:47|scanED0O01 0.0 um 0:05:01
~ HEMEL, TFIA
11] 1:02:05| 1:07:07|scanEDO11 748.2 um 0:05:02
22/10/05 1:15 MTRT
22/10/05 | |
| |aft- 1] 9:37:41] 10:10:33[aft01 pulser CFD Thr 1V->330mV fot|p.166 0:32:52 |sA1:300u A2:700u, B1:150u, B2:1000u
IRBRERIE : 2<F, /Dl
22/10/02 0:28:00} }E(Kr) = 69.44 MeV/u p.155 F AR
PLE,

1/1R=2




